POWERED BYIﬁ

ENDURA

DOOR COMPONENTS MADE IN THE USA

Opaque Steel Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS

The Opaque Steel Door system described herein complies with the 2018
Interational Residential Code {IRC), Sections R301 & R60% and the 2018
Infernational Building Code (IBC}, Sections 1404.13, 1609, 1709.5, 2403 and 2404
subject to the following conditions:

1.

2

Anchors shall be as listed and spaced as shown in the details. Anchor
embedment fo base material shall be beyond wall dressing or stucco.
When used in areas requiring wind-borne debris protection this product is
required fo be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC.
Allowable design pressure requirements must be equal fo or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this
drawing.

Conditions not covered by this drawing are subject to further engineering
analysis.

TABLE OF CONTENTS

SHEET # | DESCRIPTION

1 Typical elevations, design pressures & general notes

Astragal details

Door panel details

Horizontal & vertical cross sections

Vertical cross sections

~ln]d w0

Frame anchoring

74.65" MAX. FRAME WIDTH

]
:
x %

s
*
-G

)

. .
.

. 3

""""

N

97.94" MAX. O.A. FRAME HEIGHT (INSWING)

97.125" MAX. O.A. FRAME HEIGHT {OUTSWING)

INSWING +40.0

-45.0

OUTSWING +45.0

-45.0

SEE SHEET 5 FOR THRESHOLD DESIGN PRESSURE LIMITATIONS

ui
]
-
¥ 0
]
e w  Kd
™ 2] i
S L2 Zz-
[ 31] Om OT
a = Zy
W N
.fdo
c ﬂ - Jd%
6 0@ X
3 Z 8y 2z
< [oXe]
5F BI3 e
ke Z35e 0
-2 W
Z omw 6
oM Fo
& oN¢ oW
° %52 W
e 0y olcn’.
8 =
o Bo..c 4=
o o o og
og
2
£ E
g e§ ]
E go
3
o
°
[a)

wn
=
25
mq
°F
z&
<
® v
> I <©
S |2 Ly
3 | M
ol @
al 0
< é%
— o QU')
3 ol &»
ra) - gy
o & 0z
& < Q.
o. o
i B P
Wi o
w
o
o
K0
O
8|l
£l
ol |»n
A =z
0| 1O
5| 2
clol 1@
s°| [
S
Lol
N
[}
als
<
0>}
S e
N S
I o
Z
paTE: 11,/05/18
scate:  N,T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4897

sHEer 1 oF 6

R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-1012 Opaqgue Therma-Tru ST door XX (LK, DB) (4896-4897)\C - Drawings\TX-4896-97.dwg, TX-4897

@ 20718 R.W. BUILDING CONSULTANTS IND.



R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-1012 Opaque Therma-Tru ST door XX (LK, DB) (4896-4897)\C - Drawings\TX-4896-97.dwg, 2-2

(2) #8 X 1-5/8" PFH

i

.

ANCHOR SCREW LOCATIONS

HURRICANE ASTRAGAL

WOOD SCREWS UPPER BOLT SLEEVE
{REINF. POLYMER)
= 85
HARDWARE LOCATIONS
BOLT RETAINERS
SLIDE BOLT ROD
ALUMINUM
o ASTRAGAL
{TRIM COVER REMOVED)}
(2) #8 X 1-5/8" PFH ALUMINUM ASTRAGAL ASSEMBLY
WOOD SCREWS
1.75" I‘ 1.75" i

i i

0 0

N 0063 el o — 3/16" PYC FOAM SPACER

—~1—=— 0.063"
LOWER BOLT SLEEVE L N
(REINF. POLYMER)
) —— ———3 S E
ULTIMATE HURRICANE ULTIMATE COMPATIBLE*
ASTRAGAL HURRICANE ASTRAGAL
[OPTIONAL)
ULTIMATE/ULTIMATE COMPATIBLE « ASTRAGALSECTIONS

NOTE: INCREASE THE MAXIMUM FRAME WIDTH BY 3/16" TO ACCOMODATE THE OPTIONAL

ULTIMATE COMPATIBLE HURRICANE ASTRAGAL WHEN USED.

#8 X 3/4" PFH WS

#8 X 3" PFH WS

"'\,’\.“3&“&1\_ I.|.§
,,3'.\7:;'”.', :‘,‘th! i
AN SR 5% 0
. | EST I S w8
o5 e 1R g o8
1y P i oy dm 8
2 e .o = Zu
g tulier W N
0% 1z 12 s £05 32
2, HS, S8 28q %3
S| (9%, io §F FL8 BE
¢ ., 2 J5@ @
o )Is(@ ».,._;2 a>ﬂ Wé
E 221{" ®i23 Zowo g
Q e 5 8R%; fg
o« ox2 &
v Zz 0 .
§ 592 Ep
q a oMo o 85
2 § e
5 gﬁ
tl
| E K BB
8
193]
=
<
&
. &( >'-. 0
! DEADBOLT STRIKE § 3 3
PLATE S |3 2
ol &
<l
.. <
4 / '5 %
7. LATCH STRIKE 2 o
7 PLATE Q &
[a oo
w
LATCH & DEADBOLT DETAIL wl &
Ly
Q
(@)
F1O
3lE
Elo
o|@ 1)
R =z
A:RE
‘ t————f—u,s" 5B |
|28 [°Y]
JS S S~
T 2K
P | 33
<t
BOLT RETAINER g
(GF NYLON) S E
'~ O
& TS
1 95" /\/ [ =) pZd
| li oaTE: 11,/05,18
[} 3 ? ] scalE:  N.T.S.
T DWG. BY: JK
SLIDE BOLT ROD CHK. 8:  LFS
(STEEL) DRAWING NO.:
TX-4897

SHEET 2 ofF 6

@ 2018 R.W. BUILDING DONSULTANTS INC.



Ri\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-1012 Opaque Therma-Tru ST door XX (LK, DB) (4896-4897\C - Drawings\TX-4896-97.dwg, 2-3

e EXTERIOR 26
z =z
! SN
HINGE STILE INTERIOR LOCK BLOCK LATCH STILE
(WOOD) 10.38" LONG (WOOD) (WOOD)

7“1\ HORIZONTAL CROSS SECTION

3/

36" MAX.
PANEL WIDTH

N

N
\3/

95.25" MAX. PANEL HEIGHT

.

SEE HARDWARE:
TABLE

DOOR PANEL

Therma-Tru
Steel (wood Edge)

DOOR SKIN: 24GA. STEEL {0.022" MIN. THICKNESS)
CORE MATERIAL: POLYURETHANE FOAM (1.9 PCF MIN.)

KWIKSET

LATCH: KWIKSET SIGNATURE SERIES {991)

DEADBOLT: KWIKSET SIGNATURE SERIES {?80/985)

.
TOP RAIL ——
(WOOD)
FOAM CORE—_ |
EXTERIOR INTERIOR
STEEL DOOR SKIN g
O
somiomRal -~ L1l 1

[COMP.)

@ VERTICAL CROSS SECTION
3

by
&N
-
53 4
3 e
st B 2
Gy g8 o
Yy <
w Ldo *
b
5 a 2
6 0® =
2 =22 0
£ =T =
> S50 @
]
]
ZQEE
gn" 2
) N
O xzZ
o Z 0 b
§ g§%¢ 2
= A [=]
P 3od g
a o, bS]
p
o
L] %
[
° e;
E é
3
o
o
o

CERTIFICATE OF REGISTRATION # F-11852

w)
=
=
L
< Q
o .|
S pa Y
Q = =
= o<
& =
1
w
o
2 S
£ o &
O
3 IS
o k&
& <
[+ 18 o
it B Poe
Lol

UPDATE TO 2018 IBC/IRC CODE

REVISIONS

11/20/19|ADD "FusionFrame” OPTION &

1

o
<
a
o
z
8

paTE: 11,/05/1

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4897

SHEET 3 ofF 6

© zo18 R.W. BUILDING CONSULTANTS INC.



RAClients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-1012 Opaque Therma-Tru ST door XX (LK, DB) (4896-4897)\C - Drawings\TX-4896-97.dwg, 2-4

2 /37 2X FRAMING 2X FRAMING RECLLSLETN W,
— = .'.‘,‘:-'\' et o
4 \ 4/ (G>=042) / DRYWALL (G>=0.42) _ DRYWALL f%«j_‘,zzé 43y ¢t .
~ ~ S-S T S o wa
b e s YO e S * g Yo
q iy .'\ 109, \ \ ::{‘SI:.‘ Mi.%l)) ::2 ’..‘ gh‘i g 5 ér{
EXT. SHEATHING  #|]]4 EXT. SHEATHING ~ H|1 |4 Puield (1% & wt Ep &
b\ 11 A ';O.‘- w iz 2?— =t [ - T('*
| s ot A o é 0® 3,
14 il G i1 g¥ E28 o9
e 1 4 *(“ ...... ::'Z ‘...“" p 4 8¢
' ' ! Ui G 527 BE
|14 | #10X2-1/2"PRH Wi s B88°% g8
LTI L] WOOD SCREW 1 o x2 K
L7 ) b Z 8 ° %u_
1/4" MAX. 1 5 gog .o
" SHIMSPACE\‘ V. o \#]0X3"PFH g 82{ g%‘
Dzs I WOOD SCREW 2 S m%
o= SHIM SPACE E X gg
| = (0000c0)] §
/M e || DOOR PANEL ~ ? DOOR PANEL ~ |
W X — o) X = HEAD: PINE HEAD: "FusionFrame” (1-PIECE]) 2
O
_ ENDURA WEATHERSTRIP ENDURA WEATHERSTRIP EQ
(QEBD/PE 650) (QEBD/PE 650) s
< O
EXTERIOR W INTERIOR EXTERIOR W INTERIOR =
& |3 23
: 2>\ VERTICAL CROSS SECTION ("3 "\ VERTICAL CROSS SECTION 7 &8
\t_l/ Outswing shown - inswing also approved \U Outswing shown - inswing also approved : . = (&
o X
b S 5
o <C
0.15" o T~
(4 UAMAX. o 1/4 MAX. 5| @
CORNER PADS {5 SHIM SPACE (P SHIMSPACE  EXT. SHEATHING 8
(TYP.) EXT. SHEATHING JAMB: "FusionFrame"” MIS
(1 OR 2-PIECE) 2|0
JAMB: PINE \ SIS
T S S S WA 0.0
0.75" 0.75" 0.75" / o #10X 2-1/2" PFH 38| v
mama [l e [ s g el | B
‘ : SR S il
ULTIMATE MULTI SN
2X FRAMING o
COMPQSITE SNAP-ON (G >=0.42) ENDURA WEATHERSTRIP 2X FRAMING Si=| =
\ - \ (QEBD/PE 650) ENDURA WEATHERSTRIP {G>=0.42) 2 M
CAP / . DOOR PANEL (QEBD/PE 450) _ SIS
N 8>
5 il ) ;
<t L . NG
= S N 2 AN ] 8 |z
D My (\\’ , ‘ e > o
| S R SN 5
D LAY e =z
0 ! DRYWALL/ / \ / () Seywall  |PE 11/05/18
#8X 2-1/2" PFH #8X1"PFHSMS ~ #8X3"PFH LATCH #8 X 1" PFH SMS #8X 2-1/2" PFH SCALE:  N.T.S.
! 12— ] 195" e . WOOD SCREW WOOD SCREW _ * . o, STRIKE PLATE WOOD SCREW owe. B, UK
' — 125" = 4" HINGE #8X 1" PFH 4" HINGE ,
3/ HEAD JAMB / HEAD IAMB #8 X 3/4" PFH SMS WOOD SCREW #8 X 3/4" PFH SMS cHk. 8. LFS
AM A ¥
IAMB JHEAD IAMBHEAD — JAMS / 1"\ HORIZONTAL CROSS SECTION o
(1-PIECE) (2-PIECE) w Inswing shown - Cutswing also approved

sHEeET 4 oF 6

@ 201718 R.W. BUILDING DONSULTANTS IND.



Ri\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-1012 Opaque Therma-Tru ST door XX (LK, DB) (4896-4897)\C - Drawings\TX-4896-97.dwg, 2-5

\\ A\ oy, :; o
INTERIOR EXTERIOR INTERIOR EXTERIOR Swimd oyt 8
ENDURA EANELEI N g% @
FoiEE 20
ENDURA . (QEBD/PE 650)  INIERIOR EXTERIOR ENDURA TN T Ay ¢B BT
e _— FI - -0 = %
DOOR PWEEP R WEATHERSTRIP,_  INTERIOR EXTERIOR f2 Lg‘-%}/iéw 2 to guf e
(DBK-R) DOOR SWEEP oL Voizie § g 0 3
A? (DBK-ZAC) (QEBD/PE 650) e, 18 M 22 8%
‘4 {f‘)‘?{""‘-. :2: = 383 &':
32{‘9«.“;:)' e B>n Eg
M Fi- o 58® gu
TPy 5 8&. g8
5 952 u°
g g @ g oL
= A Q
Ry Podsin
o ] 2 § mg
b AN 13 S [+]
£ 4 o
1/4" X 2-3/4" ELCO OR 1/4" X 2-3/4" ELCO OR 1/4" X 2-3/4" ELCO OR 1/4" X 2-3/4" ELCO OR ZT
ITW CONCRETE SCREW ITW CONCRETE SCREW ITW CONCRETE SCREW ITW CONCRETE SCREW =z %
N 2
T2 O
/" 1"\ VERTICAL CROSS SECTION / 2"\ VERTICAL CROSS SECTION /3 "\ VERTICAL CROSS SECTION 4N VERTICAL CROSS SECTION - 3 &
i i i i i i utswing sum resno
W inswing Adjustable Threshold \5/ mwgiggcﬁargﬁghng Threshold w Outswing Bump Threshold w g P % 5 é
z |gS
o] —
23
=y A 5 |8 &
8 =W % [—r—j 3 S &
— — o o [s N
i ,Iﬁ 1 i
" & >
-~ e | 456" ! 456" | | 456" ! e
1)INSWING ADJUSTABLE THRESHOLD 2"} INSWING ADJUSTABLE THRESHOLD 3 )} INSWING ADJUSTABLE THRESHOLD 2 ) INSWING ADJUSTABLE THRESHOLD 5 )} INSWING ADJUSTABLE THRESHOLD
IAIL4565 TAI4565FN IAILAA4565 TAIAAA565FN ZAI4565RDS

MAX. DESIGN PRESSURE = 240 PSF

< AgH
%

[ —J

4.56" - !
INSWING ARTICULATING THRESHOLD 8

' 4.56" :

INSWING ARTICULATING THRESHOLD

6 INSWING ARTICULATING THRESHOLD 7

IACL4565 IACLAA4565

ZIAC4565FN

MAX. DESIGN PRESSURE = 40 PSF

MAX. DESIGN PRESSURE = #40 PSF

MAX. DESIGN PRESSURE = £40 PSF

MAX. DESIGN PRESSURE = %40 PSF

4.56" — !

9 INSWING ARTICULATING THRESHOLD

LIACAA4565FN

MAX. DESIGN PRESSURE = 40 PSF

RN |
e

4.56"

13 OUTSWING THRESHOLD

MAX. DESIGN PRESSURE = +40 PSF

]

L—'———* 4.56" ____,J

10 INSWING ARTICULATING THRESHOLD

UPDATE TO 2018 IBC/IRC CODE

REVISIONS

ZAC4565RDS
MAX. DESIGN PRESSURE = 35 PSF

4.56"

14 OQUTSWING THRESHOLD

| o ) ]
. S e .
1 f i
! 4.5¢" ! L‘———' 456" ——*——J
17 QUISWING THRESHOLD 12) OUISWING THRESHOLD
70BL4565 TOB4565FN

ZOB4565RDS

FOB4566

11/20/19]ADD "FusionFrame” OPTION &

1

L
)_
<
a
o
z
8

oatE: 11,/05/1

SCAlE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX~4897

SHEET 5 oF 6

© zo1s R.W. BUILDING DONSULTANTS INC.



R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-1012 Opaque Therma-Tru ST door XX (LK, DB} (4896-4897)\C - Drawings\TX-4896-97.dwg, 2-6

. HEAD ANCHORS: A uj
z, J #10X 2-1/2° WOOD SCREW (PINE JAMB] ST ° g
gOF 2X FRAMING #10 X 3" WOOD SCREW (1-PIECE JAMB) e % g 3 o B
NOO (BY OTHERS) o 6" Astragal Strike Plate EAACERES £* 5 22
° 8 | ey (T, @ Head Jamb BRI nu o gn 8l
° e Ru.%u_:; “y 523 %
O P9 ; « =
Lo il ! =7 RN 8 Esl iz
| | SEEHINGE 1 YRR ] 2= .2 = Ok, 101 5 53¢ ak
—— it DETAIL 1 = "'l '\\ «’32\’@;‘...33_ SIS g >0 t‘dé
f () } z’lhl"‘E«‘ e . gm% 08
. DETAIL 1 S X AR & SNy &g
S @g & #10X 2.5" PFH WS 3 gﬂgf By
« = g d45 0
* Roi Ik
. DETAIL 1 a > 53
z 1 e —_— S
3 R | ! JAMB ANCHORS: § e% gg
3 . » Pt (3]
N #10 X 2-1/2° WOOD SCREW (PINE/2-PIECE JAMB) 7 #8 X 2-1/2" PR WS :
) #10 X 3" WOOD SCREW (1-PIECE JAMB) e | Q
N - v e " 4"' H|®
= #EX1"PRHWS <=0 11| ol ™I~ 48X 3/4" PFH WS
ehl | SEE HINGE ' | T #xahne .
DETAIL 2 W &
& 2
- - HINGE DETAIL 1 > s O
N
DETAIL2 OR 3 \ “olgw
/| ] % % | & | #8X2-1/2" PFH WS ) @ é
i i \ J . "7 1] I
[ U l " é Al ol [} &
n ———: . #8 X 1"PFH WS R o HleF== #8 X 3/4"PFH WS & &
.\\_ " i}
e SILL ANCHORS: ([ XAHINGE 2 s
HINGE JAMB £ (VP) ——| || #10 X 2-1/2" PFH WOOD SCREW \ -
) [—o 2" (TYP.) 1/4" X 2-3/4" ELCO OR S
FLOOR SUBSTRATE MATERIAL ¢ ITW CONCRETE SCREW HINGE DETAIL 2 3|0
CONCRETE (MIN. 3000 PSI) z[e
WOOD (G >=0.42) FRAME ANCHORING =K
XX ole| ln
JAMB NOTES: 2l g
THE PINE OR "FusionFrame” 1-PIECE JAMB MAY BE INSTALLED @ THE HEAD OR SIDE JAMB. *NOT . rs required f > 40 PSF Elal 1h
THE FusionFrame"” 2-PIECE JAMB MAY BE INSTALLED @ THE SIDE JAMBS ONLY. E:These anchors required for D.P. > 40 PSF. 2N &
[
CONCRETE ANCHOR NOTES: 2 : &
1. Concrete anchor locations at the comers may be adjusted to maintain the min. [ %
edge distance to mortar joints. . . "y o_asAn . . s
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to 316" X2:3/4 ITWOCRONCRETE SCREW ASTRAGAL PIN CAPTURE 2 5
maintain the min. edge distance to mortar joints, additional concrete anchors " <
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. #8 X 3" PFH WOOD SCREW COMPONENT (UNDER CAP) 2
3. Concrete anchor table: ASTRAGAL STRIKE § B
ANCHOR | ANCH PLATE @ SILL \ 1/2" DIA. HOLE (IN CAP) > 5
-l - lo
o o\ ® S @ feo o Z
TAPCON® | 3/1¢" 1-3/4" 3 1-1/2 = < = = Z = DATE: 11,/05/18
nmw " " g " SCALE: N.T.S.
1apconN® | 14 1-3/4 1172 4 owe. B, UK
ELCO " " " " "
Ul.TRAC:ON® 1/ 1-3/4 ! 4 1/2"DIA-HOLE ————————D ETAIL 2 —DETA."' 2 *—“———DETA"' 8 (D:::v.w:j: NO.: Lo
WOOD SCREW INSTALLATION NOTES: Outswing Inswing Inswing Y4897
1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of -
wood screws fo prevent the splitting of wood. SHEET 6 OF 6

© 2018 R.W. BUILDING DONSULTANTS ING.



